EVT Transmission Installation Instructions

nght side bracket

Take 2 - 3/4" spacers for

front and rear of plate,

and place between

transmission and bracket.
By Use 20x100mm bolts with
lll \washers for mounting to

tractor. Lube washers and
ftighten to 300 ft Ibs. See
Bl below on next page.

e
Loosely bolt longer [ \‘@ e
bottom block onto & - <
bracket prior to
mounting.

Page 1 of 4


lakes
Callout
Right side bracket:
Take 2 - 3/4" spacers for front and rear of plate, and place between transmission and bracket. Use 20x100mm bolts with washers for mounting to tractor. Lube washers and tighten to 300 ft lbs. See below on next page. 

lakes
Callout
Loosely bolt longer bottom block onto bracket prior to mounting. 

Ray
Line


Page 2 of 4




b o~ 1
/

e —

uLeft S|de bracket

h— L7 \--y
j Take 1 - 1/4" spacer for
front and rear of plate,

and place between

transmission and bracket. 3;

Use 20x65mm bolts with
washers for mounting to
tractor. Lube washers

and tighten to 300 ft Ibs.
See picture on next page.

Page 3 of 4


lakes
Callout
Left side bracket:  
Take 1 - 1/4" spacer for front and rear of plate, and place between transmission and bracket.  Use 20x65mm bolts with washers for mounting to tractor. Lube washers and tighten to 300 ft lbs. See picture on next page. 

Ray
Line


Page 4 of 4






